Division par Puissances de Dix (H)

Trouvez chaque quotient.

4,308 =~ 0,001 = 7,571 <+ 0,01 =
8+ 0,001 = 55667 =~ 0,001 =
2,679 + 0,001 = 2,4341 - 0,1 =
6,8594 - 0,001 = 6,317 - 0,01 =
572-+0,01= 8,73 +0,1=
6,5+ 0,1= 1,616 = 0,001 =
3,4+ 0,001 = 8,414 - 0,1 =
4,696 - 0,1 = 2,4+0,01=
5,044 - 0,001 = 5,06 +- 0,001 =
8,336 +~ 0,001 = 6,6 -0,1=
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Division par Puissances de Dix (H) Solutions

Trouvez chaque quotient.

4,308 = 0,001 =4 308 7,571+ 0,01 =757,1

8-+ 0,001 =8000 55667 =+ 0,001 =5 566,7
2,679 =~ 0,001 =2 679 2,4341 + 0,1 = 24,341
6,8594 - 0,001 = 6 859,4 6,317 =+ 0,01 =631,7
572 -+0,01 =572 8,73 +0,1=87,3

6,5+ 0,1 =65 1,616 = 0,001 =1 616
3,4+ 0,001 =3400 8,414 - 0,1 = 84,14
4,696 +- 0,1 = 46,96 2,4+0,01=240

5,044 - 0,001 =5 044 5,06 0,001 =5 060
8,336 +~ 0,001 =8 336 6,6 ~ 0,1 =66
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